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1) ites o (uWfen fég) Byt &t Hftm
Life time (in hours) No. of lamps
1500 - 2000 14
2000-2500 56
2500-3000 60
3000-3500 86
3500-4000 74
4000-4500 62
4500-5000 48

ffadyeniftariies as usT a3 |
Find the median life time of a lamp . (2)
2) I f&a viafamit Shifgar 52531 Aeg g dg a3 e 1z 100337 x M3 yUsTad |

Median of data below is 525 . If the sum of frequency is 100, find x and y.

2341 M3JB g3ga3T
class interval frequency
0-100 2
100-200 5
200-300 X
300-400 12

400-500 17



500-600 20

600-700 y
700-800 9
800-900 7
900-1000 4

3) It f&st wract ffa ydS © dfon e s Y Yag Tanrget 31 Hav's R yaer 218 F, Mfam™s
993" f Y3 31

Data below represents the daily pocket money of children in a colony. If the mean pocket money is
218 , find the missing frequency f .

I 7Y ¥I9 dfomt &t Rt
Daily pocket money no. of children
11-13 7
13-15 6
15-17 9
17-19 13
19-21 f
21-23 5
23-25 4

4) I &3t Araat far fis @ 100 graHt @ Y3t Iadnig 9 @ B3ures § Tanmget 3| fen s § Sud yag &
o a8 m3feafmer3as RIS

Data below represent per hectare wheat production of 100 farms of a village. Convert it into more than
type distribution and draw its ogive .

€3umes(in kg/ha) aH &t At
production (in kg/ha) No. of farms

50-55 2

55-60 8

60-65 12



65-70 24

70-75 38

75-80 16 6x3=18



